SN T7TEE ERERXR OB EMISER
3 - AED N+ K - 2 (BRBL)
R 8:15 ~ 8:25 R 8:15 ~ 8:25
= ER 8:25 ~ 8:35 #B= &R 8:25 ~ 8:35
B|O= 8:35 ~ 8 40 [ 8:35 ~ 8 : 40
1 R 8:40 ~ 925 1 RS 8:40 ~ 9:25
205 9:30 ~ 10:15 205 9:30 ~ 10:15
PIRH 10:16 ~ 10:35 PIRH 10:15 ~ 10:35
Y nis] 10:40 ~ 11 :25 s 10:40 ~ 11 :25
A RREF 11:30 ~ 12:156 AR 11:30 ~ 12:15
R 12:15 ~ 13 :00 R 12:15 ~ 13 :00
BIRH 13:00 ~ 13:15 BYRH 13:00 ~ 13:15
BiF 13:15 ~ 13:30 SRS 13:20 ~ 14:05
SREF 13:35 ~ 14:20 6 RS 14:10 ~ 14:55
6 Kb 14:25 ~ 15:10 BODOE KB 14:05 ~ 14:15
BOD= 15:10 ~ 15:20 BODE (FiE) 14:55 ~ 15:05
RIE TR 15:25 BETR |14 :20 GkB) 15 : 100N - @)
1SRISE (BlRaL) <ERER - VOTBRE>AEH
R 8:15 ~ 8:25 SREF 13:35 ~ 14:20
D= 8:25 ~ 8 :30 "ODE 14:20 ~ 14:30
1 b 8:30 ~ 915 FE28ED3T| 14:35 ~ 15:20
2105 9:20 ~ 10:05 BRI TR 15:30
PIRH 10:05 ~ 10:20
3RbF 10:256 ~ 11:10
AR5 11:15 ~ 12:00
foR 12:00 ~ 12:45
BRH 12:45 ~ 13:00
S5 13:10 ~ 13:55
XI5 14:00 ~ 14:45
S5RERBROOE|l 13:55 ~ 14:05
GRERBODE| 14 :45 ~ 14:55
5REF14:10 6RBE5F15: 00
RIRTMR | ARRIBEWERL) 12 :15
ABMEREREDD) 13 :00













